SPARE PARTS LIST

MODEL NO. HM1140C

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 286252-9 Szerszamtart6-sapka HM1140C 1
002 416790-9 Szerszamtarté-fedél HM1140C 1
003 213430-8 O-gyuru 28 HM1140C 1
004 256156-9 Csapszeg 6 HK1800/HM1140C 1
005 323833-9 Gorgovezeték HM1140C 1
006 233208-3 Nyomoérugé 47 HM1140C 1
007 331489-4 Acélgoly6-vezeték HM1100C/HM 1
008 416087-6  Allité gyuru HM1100C/HM1140C 1
009 216011-7  Acélgoly6 5,6 216011-7 4
010 323835-5 Szerszamtart6-alatamasztas HM1 1
011 922351-0 Imbuszcsavar M6x30 4
012 213554-0 O-gyuru 44 213554-0 1
013 231972-0 Tekercsrugé 52 HM1100C/HM1140C 1
014 265439-6 Hatlapl csavar M8x150 265439 1
015 417003-1 Oldals6 fogamntyu (D-foganty() 1
016  252640-2 Széarnyas anya M8 252640-2* 1
017 417002-3 Oldalsé fogantyu biitykds kengy 1
018 152620-7 Oldalfogantyu-fedél 1
019 417002-3 Oldals6 fogantyu bitykds kengy 1
020 416086-8 Oldals6 fogantyl alatdmasztasa 1
021 213479-8 O-gyuru 33 HM1100C/HM1140C 1
022 323860-6 Gorgo 12 HM1140C 1
023  323834-7 Szerszamtart6 HM1140C 1
024 213269-9 X-gyuru 19 HM1100C/HM1140C* 1
025 213311-6 O-gyuru 9 5014/5016/HM1140C* 1
026 323845-2 Utoszeg HM1100/C/HM1140C 1
027 962154-0 Seeger-gyuru R-36 1
028 421570-0 Gyuru 36 HM1100C/HM1140C 1
029 331487-8 Utoszeg(vezeték) HM1100C/ 1
030 213391-2 O-gyuru 25 HM1100C/HM1140C 1
031 331526-4 Hivelyvezeték HM1140C 1
032 213370-0 O-gyuru 22 HR4000C/HM1140C* 1
033 213554-0 O-gyuru 44 213554-0 1
034 322757-6 Hengerhively 34 HM1100/C/HM114 1
035 323861-4 Dugodkulcs HM1140C 1
036 213429-3 O-gyuru 27 HM1100C/HM1140C 1
037 213614-8 O-gyuru 50 HM1100C/HM1140C 1
038 316672-4 Hengeres haz HM1100C/HM1140C 1
039 922351-0 Imbuszcsavar M6x30 4
040 213606-7 O-gyuru 48 213606-7 1
041  213429-3 O-gyuru 27 HM1100C/HM1140C 1
042  415773-6 Dugattyd HM1100C/HM1140C 1
043 256165-8 Csapszeg 8 HM0810/T* 1
044  213415-4 O-gyuru 28 HM1100C/9403/HM1140 1
045 415689-5 Hajtérdd HM1100C/HM1140C 1
046  211129-9 Golydscsapagy 6201DDW 211129-9 1
047  213160-1 Olajtdmités 14 213160-1* 1
048 516288-7 Forgorész 220V HM1100C/HM1140C 1
INC. 49,50
049 681650-6 Szigetelo alatét 681650-6, Uj* 1
050 211033-2 Goly6scsapagy 608LB 211033-2 1
051 415693-4 Légterelo lap HM1100C/HM11 1
052  265345-5 Allérész régzito hatlapt csav 2
053 941102-2 Lapos Alatét 5 941102-2 2
054  639007-5 Allérész 220V HM1140C/HM1100C, 1
055 632678-7 Vezetolap, komplett HM1100C/HM 1
056 851366-9 Cimke 1
4

057

922364-1

Imbuszcsavar M6x40 922364-1




SPARE PARTS LIST

MODEL NO. HM1140C

PAGE 2

ITEM PART NO. DESCRIPTION QTY NOTE
058 152662-1 Motorhaz 1
059  643750-0 Szénkefetart6-sapka 643750-0* 2
060 194285-9 Szénkefe, CB327 /CB304/CB323/ 1
061 415700-3 Motorhaz héatsé burkolata HM110 1
062 266021-4 Onmetszo csavar M5x20 2
063  415695-0 #R0gzito palca 415695-0* 1
064 687052-4 Kéabel-fesziiltségmentesito 6870 1
065 265995-6 Onmetszo csavar M4x18* 2
066  682560-0 Kébelvédo 10 682560-0* 1
067 665883-1 POWER SUPPLY CORD 1.0-2-5.0 1
068  415690-0 Forgattyuhaz-fedél HM1100C/ 1
069 415698-4 Hazburkolat, komplett HM1100/C 1
070 819064-1 MAKITA cimke 1
071 216116-3 Belso hively 812 HM1100C/HM11* 1
072  153249-2 Forgattyus tengely, komplett H 1
073 212259-9 Tugodrgos csapagy 2116 HM1100C/ 1
074  962105-3 Seeger-gyuru R-26 962105-3 1
075 210054-1 Goly6scsapagy 6000LLU HM1100C/ 1
076 213707-1 O-gyuru 65 HR1800/HM1300/HM114 1
077 317143-4 Forgattyihaz HM1140C 1
078  415699-2 Kapcsoléhaz HM1100C/HM1140C 1
079  263002-9 Gumi csapszeg 4 263002-9 2
080 651481-7 Kapcsolé STE215K 651481-7 1
081 213107-5 O-gyuru 12 JR3000/V/2702/HM114 1
082 631204-9 Szabalyoz6 elektronika 200/220 1
083 415691-8 Kapcsolékar HM1100C/HM1140C 1
084  417447-5 Fordulatszamszabalyz6 1
085 415692-6 Rogzito gomb 415692-6* 1
086 421507-7 Fogantyd HM1100C/40C/1202C 1
087 266135-9 Imbuszcsavar M6x90 2
088 922371-4 Imbuszcsavar M6x50 922371-4* 2
089  331486-0 Huvely 39 HM1100C/HM1140C 1
090 233190-6 Nyomorugé 39 HM1100/C/HM1140C 1
091 267156-4 Lapos Alatét 39 HM1100C/HM1140 1
092 231971-2 Tekercsrugd 36 HM1100C/HM1140C 1
AO1 150676-4 PLASTIC CARRYING CASE 1
AO2 181573-3 GREASE VESSEL 1
BO1 134909-5 SIDE HANDLE ASS'Y  new 1
INC. 14-19
EO1 645105-5 Zajszuro kondenzator 645105-5* 1
EO02 646078-5 Kondenzator (fojtétekercs) HM1 1




SERVICE DRAWING

PAGE 1

MODEL NO. HM1140C




